MEE NS IDF R G EFESE
—HE=FEREREE

41 i i X Bk ER
PO $1,000[FRO 5 $100
BX O $500[BROH $1,000
MOE $500[#H O $100
MO T8 $500[ T O% $100
B0z $500| T O $100
MO $500[ T O#F $100
= OFERE $1,000| T O $100
= OER $1,000)ZEOH $100
=SOFF $1,000{ T O= $100
#FRORE $1.200[ T OJE $100
s2ORE $1,200) T O%#, $100
HOHE $1,000| O $100
TOE $1,000[FE O $600
EO&% $1,000(7% O 7 $300
FHOPTE $600[E=OE $100
BRORESE $2,400| = O#F $500
EOTE $1.200[ZFO% $100
T O $1,000150 $200
+O& $1,000|#BOLEE $200
O $1.000[ZFOfE $100
HEOFk $1.200[z=0%5 $500
=0% T $200[EO3L $100
O $1,000|FRO4E $100
ROZE $1,000) 8 OH $200
@) $30,000{BEO <% $600
TOMSE $500,000[2I O $200
EOT $5.000|E O $200
#O Jg L $500[£5OFE $200
AOT $200[ = OF & $3,000
RO $1.000[FR O $2,000
FOR $300[H O $500
ZO=E $1,000[FEOF $100
Ol $400[FRO 7 $100
HOE $600|FO%E $1,000
W O $1,220|B O $100
PROAL $600 | F O %k $100
HEVA N MRS $6,000[FF Oz $100
ZOF $2,400| PO $100
ZOr $1.200);E O $500
TO%% $300[HO%% $100
B $4.000] PO $100




JiE A R L $4,000HO & $100
EEEL $4,000[EEO A $100
BROIE $100[HO%H $100
BROZE $100[F O $1,000
O $200| EOH $1,000
BOFET $200|FHOFKE $2,000
BOX $200[FECOI] $100
BOH $200[ RO L $100
BOE $200| EOBK $300
RO $200[=OFT $100
FTOE $100[FEOE $100
F+O% $100[FEO= $100
RO $200[FEO $100
BRO $200(E Okt $500
BEOZE $200[/EO¥H $500
RO $100[FO% $500
BOXEA $100[/E ORI $1,000
ZIOE $100[HOZ $500
PR OZ $100[FROFH $600
akORH $300[EF O $100
EO#x $1,000|EFOta $100
HOE $200|EFO %= $100
ORI $200[EFO1= $100
HOH $200[EF O $100
PR OZ%E $200[f1 OB $100
PR OZ%E $200{=0O $600
PR Oz $500|BUE =K $1,200
PR OZ%E $200(Z1OF $1,600
i OF $1,200[EOP 2 $600
=OBk $1,200|BFOZE R4 $6,000
O $100|FOE $600
RO $1,200[BLOIEE $600
BEOZ#EE $1,200[EFO $5,000
FO" $100|EFOEBIZ $600
FOE $100|ZE0F% $300
2O $200[ & ORH $300
RO $600[ER O $1,000
BROE $100[EO% $1,000
BO= $100[EHOH $1,200
RO $100|EO=E $1,200
PEOE $100[Z1O#% $2,000
=O $1,200| AL O#H $2,000
OB $200{#OFF $1,200
HOHE $12,000|f5IOZE A $1,200




s OFT $200[BROLT $600
FO®E $200[HFEOH $1,200
2O $200)3= O $1,200
O $200[#F O $1,200
HOZE $12,000[#RO= $1,200
HEOE $100| PO $1,200
FEOME $100[#OHE $1,200
HEOREER $100|PROAD $1,200
w0 $1,200])BROJa $1,200
BROSE $1,200|210 & $1,200
BOZ= $1,200)5=OL $215
BOZE $1.200{#RO1E $30,000
BOZ= $1,200({BR Ol $2,000
BOZ= $1,200|5F O $100
BOZE $1,200|HOf= $3,000
BOZ= $1,200/TOZ= $3,000
BROZ $1.200[HEO $100
SO $1,200) &= Ot $1,000
BIOTH $1.200[F OFE $500
ZOEH $1.200[FE O $100
w=OR $6,000) = OHE $100
O $12,000[FE O $100
O $3,600[FEOREER $100
O $3,600[ & O $6,000
TO%% $1,200)BEOBH $1,000
O $200[#H O $100
O $1,200| T O= $100
@RS $1,000) T OFE $100
#FO KRR $600[ T O#h $100
ROE $100[+=0% $100
EOHE $100[R O $600
HO4H $500[7&O E e $300
BOZE $100|# OFs $1,000
O $1.000[=OE $100
BORE $1,500) & O $500
= O $1.500[ZFO% $100
s ORKEE $2,320(FO it $200
£0FH $300|F O $100
BIOF $700[E=O% $500
BIOZR $200| O $100
HO= $500]F O2H $100
BRO $500[ & O1H $200
BROB D $10,000{BEO <% $600
£Z0OH $1.000|FO& $1,000




SOt $1,200{=0O%F $200
RO $400[= O $400
SO $1,000|1210OF5 $400
FOM $400| O $2,320
FZO=E $1.000|FHOE $3,000
PRO $1,200)122OF% $200
=0% T $200| EOAEHD $500
MO $3.000{#ROZE $2,000
HO= $1,200|= O $500
iTO $5.000) &= OFF $400
=205 $1,000{21Ok $200
FOK $500 TOFE E $200
BROH] $500|122OE $2,000
i 2 B EA S $1,000|2IOF $800
TO= $2,400|ZF O $100
frO% $1,000|1ZOta $100
PROHE $1.200|EFO = $100
OB $1,200|EO1= $100
g1 O] $1,200|Z O $100
BROF $1.200 [T O $100
BROE $1,200{FROEE $500
ZIOF $1,200{£5OFE $200
s OfE $1,200|%% O+ $500
w0 $1.200| = O & $3,000
s ORI $1.200[ZFO= $1,000
RO $1,200{=0O%F $200
#FORBZR $600[# O $200
FRORL $300[EBOHES $500
BO $1.000[# O $200
BROBE $1,200) &= O $400
w= Ol $400[5= O $200
RO $1,200)22OF% $200
TO&L $500|122 OB $200
ROFE $1,200|1FF O $200
#O g L $500 i O $200
s OB $1,200|120= $200
BOLE $1.200|1#O% $500
sTOH $1,200[5FOFEE $200
it O $1,200] 7 O $200
sTOME $1,200|5F O $200
sTORF $1,200[#5O%F $200
ROH $500[tm O $200
%t $1.000 7 B EE A PR/ H] $1,000
EHO% $1,000] e O%tE $1,000




£0FH $300[#EOZ> $4,000
HO=E $100[3EO= $100
+O&F $1.000[FEOZ $100
BOZ= $1,200)FEO%E $100
FEOR $100[FE O $100
FEOME $100[ZEOREPR $100
FEOHE $100[HO e $300
FOREN $100[BBOFl $300
BO%E $100[==01& $300
s O $400/2£0 $300
RO $2.400)1Z= O $300
ZIOH $4.800|1Z=O% $300
HO¥ $7.200[ O $300
HOE $10,000[ O $300
£0% $2.400[Z 0Ot $300
BIO% $1,200)3OF- $300
#RORE $1,200)1ZOF% $300
£Z085 $1,200[4LO%E $300
HEOLUI $1.200[3£0 $300
BROH $4,800|1OEE $300
w08 $1,200|B8O%E $300
EOTE $1,200| 5 S AR LA TR H] $3,000
A Ol $7.200) O $500
PRO B $1,200[FOF $100
HOE% $1,200{FO4 $100
£20) $1,200{ kO $100
FOR $1.200);E O $500
O $7.200HO%% $100
T O $4.800| PO $100
i OFE $3.600|5TOF% $600
BHOZ $3,600 [ OUL $600
BOH $1,200| = O# $100
O $4.800[ O $100
ER O $1,200|1#FO%E $100
HOE $4.800[ EOR $300
EROFF $4.800) B OF $5,000
#FOTF $10.800[5T O $3,000
#FOX $1,200|1220F5 $300
SO $4.800( 55 O% $1,200
sHORE $2.400|4OF $1,200
g O== $1,200)1220f(& $1,200
BROZE $1,200|4: O $1,200
O] $1,200(PE O $1,200
BOE $2,400[#5OHE $100




HROFEH $1.200|:=0OF $1,200
#ROMH $1,200|#E O $1,200
HOF $1.200|1#r O $5,000
fTOZE $1,200|5FO%#, $1,000
sTOfH $1,200) 52 OfK $100
KOH $2,400|2 O $100
FHOE $1,200| O $100
=50 $10,000) B COBH $1,000
SO $2.400|1#E O $100
=OH $7,200| T O= $100
#ROHi $2.400) T OFE $100
O $1,200) T O%#, $100
RO% $8,400[ O $100
HOA $2,400[FE O $600
FOE $2,000(7% O 75 $300
IO $1,200| s OF $1,000
PO $70[m= O $100
RO $3,600| = O#F $500
RO $3.600|F O $100
BROZ $3.600|F Ol $200
FEOLE $1.200[ZFOfE $100
FO&E $1.200[z=0%5 $500
BROIE)G $1.200{EO>L $100
FHORE $1,200) B O%F] $100
TOHE $2.400) 8 OH $200
FEO $1,200{FRO <% $600
A O $1.200| £ OB $100
RO $1,200|= O $100
BOWRE $2.400| 5O $100
O $1,200|FO & $2,320
BOK $1,200|1210F5 $400
BEOE $1,200|1#E O3 $2,000
ROXK $3.600| 21Ok $200
RO $4.800) 5 O$#, $1,000
O $2.400| = O & $3,000
e Ol $1,200[FROF $200
s O% $1,200)B O 7 $200
HOBR $1,200) B O $200
RO $1,200) R O3 $200
E O $1.200[FR O $200
s Of% $1,200|12IOF $800
AROBL $1,200|=0= $50,000
sTOFE $1. 200 O & $200
PORE $2.400)FEO* $200




RO $2,000); O $200
EO M $1,200)FE O] $200
EXO $1.200[z=0O7FF $200
w=OR $1,200)FE O $200
FHOH $1.200FE=O% $200
INNS=E2 RG] $6,000[FEOHH $200
BROSE $100|122OF $300
FROH $1.000{ O HD $500
HO% $100[= O $500
TOXR $100[br O $2,000
TOE $100|EO%x $1,000
TOE $100[FO= $1,000
JTOE $100[Ek O EEEZR $600
B OH $100| =05+ $200
10= $100|E= O $400
TORE $100[3E O $100
T O## $100[#O%E $100
+O2 $100[F=OM $1,000
HO¥ $2,320| RO % $1,000
BROYE $600| = O $600
RO T $300[FEO $100
HOWEE $100[FEOHE $100
=OE $100[FE O $100
O $500[FEOREER $100
FOH $100[AO4n $250
10O $200[7R Ot $250
SO $200[ & O $300
FORE $100[E= OF $2,320
w075 $500[FHOFH $25,000
TOX $100[FRO%E $100
BRO&H $100[fRO=E $100
g O $200[FR Ot $100
BRO %% $600 | O $100
SO $500[ HHOFE $100
tROZE $600[FROF* $100
MHO& $600|EHO $1,200
AOE $600[7= O $100
BIOZR $200[FR O $100
PROAL $600 | O $100
=0l $2,000{ O $100
BOR $666[FROJE $100
BORE $666|fR O $100
RO $668[5FOi% $100
PEESFHAERE $20,000]f O $100




TS e E E e s $500[ETO*E $100
ZO=E $1,000|5FOJe. $100
£0% $300[5TOZE $100
=0O% T $200[HH Ot $100
Ok $400| EO& $100
BIOF $500[FROH $1,000
FOBK $3,000|1#k O $100
EEIOES $3,000[ TO= $100
#O g L $500[ T O $100
TON $1,000) T O%#, $100
KO $1,000| O $100
O $1,000[FEOYE $600
RO $300[;EO E e $300
RO $1.000[#F OF& $1,000
ROH $500[E=O%E $100
MO¥E $1,200|=O#F $500
2OE=E $1.200[ZFO% $100
210 $1,200{#8OLEE $200
A O&E $1.200[ZFOfE $100
HOTR $1,200|5 077 $500
A OF5 I $1.200{EO>L $100
ROE $1,200|FRO4E $100
O $1,200% OtH $200
=0 $1,200[FRO <% $600
O $1,200| £ OB $100
HOF $1.200[z=OF $100
wOHk $1,200| 5O $100
RO $1,200)BE O $300
BROE $1.200{EOHE $300
RO $1,200) B O % $300
sTOR $1,200|BROZ $300
FOE $1,200|21Ok $200
FOBR $1,200|##HOLL $3,000
2OH $1.200[EOFE & K $2,000
RO $1,200[220 $2,000
HOZE $1.200|{8 2 1116 S e i 7 $3.000
HOP $1,2005BO%k $600
RO $1,200|5EO%E $600
O $300[EOFE $1,000
BRO & $300[EOFE $1,000
ZOlig $100[EOFE $1,000
0 $100[#7ORE $1,000
ZO% $100[#7ORE $1,000
ZO® $100[#7ORE $1,000




FOM $100[#O%E $600
HOE $100[t5OFE $600
Z O $100[tOF $600
FHOE $100[EOFE $1,000
Z O $100[EOFE $1,000
HOZE $100[EOFE $1,000
#HO $100[Jitf O 7= $2,000
BOE $300|122 O $750
BROE $3,000|22O%F $750
BrOZE $300)| O $1,000
B O $500[ 2 O% $600
TOEH $1,200( % Ot $600
SO & $3,000)% OF $600
B $2,000) 8 OfH $600
= i $1,000) 8 O $600
#FORBZR $600[E O $600
Oy $1,200) 8 Otfgtt: $600
MmO $500[EBORY $600
TOZ $1,200) 5O $600
BEOBE $10,000|EP O $600
HO{ $2,000| O $600
LOZE $2,000[# Oz $600
O J $3,000) 5Ot $600
=OHTT $1,200{#k O $600
FEORHED $2,320|1#E O $600
i OF $1,200) &= Of: $600
O $1,200)&O7 $600
i OTT $1,200)5= O $600
10O $1,200[t5O 75 $600
FOH $1,200[#O ke et $500
i Ok $1,200|ZFOLL $600
ROE $1,200)% O $600
B OF(] $1,200[5ROF $500
RO $1,200) % OF4 $600
= Ol $1,200|FHO AL $20,000
FRORL $300[£5OFE $200
SO $500[FO= $1,000
BEO% $1.000[FROH $1,200
MHO& $600[ O $1,200
HOE $100|HOL= $3,000
PEOA $600[)LO= $3.000
i O4F $1,200{=0O%F $200
HOE $1,200) = O $400
MO $1.200| = O & $3,000




BO%E $100[z=OHk $500
FOBK $1.200( /S AZELT $3.000
FOEE $1,200({f O ZE $1,200
HOFE $2,000[ O $1,000
FOE $100[EOZE $600
FEOME $100[EOL $600
FEOH $100[EFOH1 $600
FOREN $100[F O $600
#FOE $1,000[5FO AL $1,000
HOMEE $6.000) POt $200
TOAIED $500[BIOF $800
=50 $500[HO=F=2 $1,000
BO% $1,200)£O%% $200
BROSE $100[#RO % $200
RO $1,000|ELOH $100
MO $100[FO1a $100
TOXE $100|HFOZE $100
JTOR $100[E O $100
TOE $100[ERO5 $100
JOE $100ta O $100
B O $100[#OE $200
10= $100[tHOR% $1,200
TORE $100[# O $600
T O $100[2£0E $1,200
+O2 $100|7EOH $1,000
BROYE $600| = M I L & $30,000
RO T $300[Ek O EEEIZ $600
HOWEE $100[EBOHES $1,000
=OE $100|FEO%x $1,000
O $500[#FOF $1,200
FOH $100[3EO= $100
70 $200|FE O $100
SOt $200[FEOHE $100
FORE $100[FE O $100
w075 $500[FEOREER $100
FOX $100[HROE $3,000
BRO&H $100[B1OF5 $700
g O $200[#O%E $100
BRO %% $600[RO % $500
2IOF $400|122OF $300
=0l $2,000(E= O $2,320
BIOZR $200| EO $100
HOFE $3.600]BECOBH $1,000
O $1,200|1#k O $100




= O $1,200[ T O= $100
BROH $1,200) T OFE $100
wOR $1.200{ T O## $100
s O% $1,200{ 0¥ $100
BIOF $1,200[FR O $600
=0O% T $200 & O < $300
BROZ $200| i OF $1,000
BROZE $200[E=O%F $100
RO $200[5= O#F $500
BROME $200|FOH $100
BROZR $200[H O $200
#EO $1.200[ZFOfE $100
AHEOE $200[5=OF5 $500
£ $200[#EO1= $135,000
AEOH $200| O $100
BHOHE $1,200) B O%F $100
BOIE $1,200) 8 OH $200
BO% $1.200[ EO &5 $100
OB $1.200[z=OF $100
§TO T $1,200| 5O $100
FEORR $1,200) &£ Ot $300
2O $1,200|21O%k $200
BHOZE $1,200] - ER B — SEAfEISF S $3.000
i O, $1.200[FR OB $1,200
w16 $1.200|1EOF $1,200
SON $1,200| PR OB $1,200
BO% $1.800|1#EO4F $1,200
ROF $1,800[FEO+F $1,200
EAON| $200| 5 O $1,200
et Ot $1.200[7ROZE $1,200
s OFT $200[ O Hk $1,200
FEOF $200(ZOZ& $1,200
O $200[F O $1,200
S O $1.200| £OF $1,000
ALY FENEZ= AR $1.000,000[RO% $1,000
ZO=E $1,000{%= O $500
FEOI $1,000)122OFt $500
EO% $2.400| = O & $3,000
g ORE $600[FO= $1,000
EO¥ $600| =05+ $200
g O $600[=OLL $400
g O $2.400| EOA#HD $500
gOE! $600|= O35 $500
g Ofgt $600[7ROL $200




O/ $600 O $500
w=OE $600[FRO%E $100
HO $600[#E Ot $100
HOEE $600[HOF=2 $500
MO $600|HEO %% $100
SOt $600[fO=Z $100
PO $600[FRO#h $100
PO $600[ RO L $100
w=OfE: $600[2EOF5 $300
=0 $600|EO%x $1,000
s O $600[EBOR $100
BOF $600[EEOfG $100
HOEL $600|HFOZE $100
EOX $600[EEO $100
gOwH $600[EF 5 $100
2Z0F $300[FROZ $100
BEO%= $1.000 [T O 5 $100
i OFd $10,000) O FE $100
FEO] $2,320|BROF $100
FHOEE $100[z= O $100
MO $3,750[FROH $100
FOE $100FR O $100
O $100[ OB $100
FEOR $100[FROJE $100
FORENR $100[FR O $100
AEOE $500[EFOi% $100
POt $100|f O $100
AEOFEH $500[ETO*E $100
AEO%E $100[EFO =, $100
MO $100[5TOZE $100
MO $100[HH O $100
FOR $300[#HOE $100
EOAED $500[FRO= $1,000
=50 $500 (R O $1,000
PO $1,000| EOHE $600
2IOF $300| RO VUt $500
ZOF $100[EFO#h $3,000
FIOEK $200[#EOE $100
s O $332[ RO $3,000
ZOFH $100FEO $100
HO= $100)FEOME $100
2O $100[FEOHE $100
=0O%B+ $200|FEOREER $100
w= Ol $400[EEO 2 $5,000




HOw §3,000] B Oz $200
O $1.000[BEOE §200
OB $1,000[BO %% $200
TOR $1,000[BEO= §200
2Ol $1.200[ OB §200
2O $400[BE O $200
O $1.200[&0 §200
w8 O $1.200[BEO(: $200
2O $1,000[BEO §200
2O $400| O §200
2O $1.200[BE Oz $200
HORR §500[BEO $200
EOE §500[3F Ok $200
SO $200[BE O §200
=05 $1,000[3F O §200
HOE $600[5F O $200
PROAL $600[5F O §200
BAO% §2,000[FkO1E §14,000
HOTE §10,000]tHO%H $200
O $ 100/t O $400
B0k & $3.000(BEO iR $1,000
EOW# $300[ kO $400
O $100[3EO % $400
BEO $1.200[Z£O 7% $400
Ok $100[22OFF $400
BOET $200[2O% $400
B $200[# O $400
BO $200[2£0= $400
BOE $200[#O% $100
B O % $100[5FO%E $400
EOEA § 1007 OB $400
2O $100|5F O $400
BEO% $100]Z=O% §300
#0% $300[#OF $400
HOE $1.200[#5OH $400
O $1.200(210 7% §500
O3, $1.200[EEO $1,000
O $1,200{EO §2,320
O $1.200[ kO $1,000
HO% $1.200[BO 5 $215
AO% $1.200[2I10%k §200
HO% $1.200| EOXIED §500
FEOZE $1.200] =08 §500
O $100[E2OE $10,020




RO $100|BEOFHD $5,000
PROE $100[BR OFAZ $600
BROE $100[F£O% $100
O $1,200[FOF $200
TOFF $1,200| O $200
=% $1.200|210OF $200
i OF $1,200)BEOBH $1,000
MHOE $200[E O $100
Z O $1.200|1ZFOt& $100
PRORE $1,200|EFO%E $100
PROZE $1,200|EO1= $100
s OfE $1,200|Z O $100
IO $1.200[FRO%E $1,600
s O $1,200[ 1] O $100
FOH $1.200|2IO =k $200
OB $1,000|12I1OJ= $200
RO $1.200{Z1OF $200
ZOE $1,200|1210& $200
RO $1,200{FEOE $200
A OFE $1.200|1#k O $100
sTOR $1,200| T O= $100
O $200[ T O $100
HO=E $100[ T O#h $100
HEOE $100[+=0% $100
FEOE $100[7EO E e $300
HEOHH $100|# OF $1,000
FEORETR $100[m=O%E $100
FRORL $300[=O#E $500
FO $1.000{EO&K $200
BROZ $500| EOF $200
SOHE $1.000[ZO% $100
BO $1,000|FE Ol $200
=0% T $300[FOE $200
SOt $1.000[ZFOfE $100
SO $1,000|5 075 $500
PROZE $10,000|21O%4 $200
ZOH $1.000{EO>L $100
BIOFH $500/F O2H $100
HO{ $3.000) 8 OH $200
LOZE $3,000{BEO <% $600
=OIESR $12,000{ O3 $100
BIOTk $200[ 5 OF $100
TOAIED $500[E= O $100
=50 $500[=OPT &= $3,000




MmO $500] 5O & et $500
=0 $5.020[5ROF $500
BROS $100|%= O+~ $500
RO $1,000{£5OFE $200
MO $100[FR O $200
TOXR $100[FROZ $200
TOE $100|FHO%& $1,000
TOE $100[FROFE $200
JTOFE $100|F O#k $200
B OH $100fH O $200
10= $100[F O $1,200
TORE $100[O & $200
T O## $100[FEORI $200
TO¥ $100[HO%H $200
ZIOFE $2,320|=0O%F $200
BROYE $600[/& O $1,000
RO T $300[EOFE $1,000
HOWEE $100[FHO¥E $2,000
=OE $100[F= O] $200
O $500| EOR $600
FOH $100[=OFF $200
10O $200[FE O $200
SOt $200[FEOfZ $200
FORE $100[Z=OH $200
w075 $500[ = OF &= $3,000
FOX $100) Ot $1,000
BRO&H $100|FHO# $1,000
g OF $200|FHOZ= $1,000
PRO%0 $600[/H O $1,000
=0% T $200[[HOF $1,000
RO $1,000|EX O%H $1,800
E e AR E] $100,000{&x O $4.800
AEOE $500[3OF= $600
MO $100|AO%E $1,200
AEOFEH $500[BR O $1,200
AEO%E $100[AROHE $1,200
PO $100|ARO%Hi $1,200
O $100|A O $1,200
OB $300| RO $1,200
SOt $2,400[BEO AL $1,200
RO $800|F O $1,200
SO $2,000|E Oy $1,200
FOM $800 &k OFRE $1,200
BROZ $200 &k O $6,000




RO $200[#F OBk $6.000
TOE $200[FRO H 5% $1,200
FO4 $200| RO $48,000
PROZE $200 &k O#F $6.000
BROME $200[ &£ OFH $6,000
BROZE $200[ O $1,200
AHOE $200[H=O%k $1,000
FEORM $200[FO= $1,000
AEO $200|1220OF $300
O $200 52 O $400
TOF $200[7RO3L $200
EAON| $200|EkOF $2,000
EOR $300[FROF* $1,000
s OFT $200[Ek O FEEIZ $600
s OFF $200 BB O $1,000
FO® $200[= O $2,000
FEOE $200[EH O $3,000
O $200|HOf= $3,000
FO=E $1,000PTOZE $3.000
=OT $500[)Z Oz $1,000
PROEZE $1.000[HEOE $100
O $100[#O%E $1,100
#Ola $100FEO $100
O $100[FEOHE $100
2O $100[F= O $100
O $100[ZEOREER $100
FOF $100[FNO= $300
2105 $1.000[HO $500
SO & $3,000) kOt $100
HOVUtE $1.000[Ex O $1,200
#FO KRR $600[HO=F=2 $500
O $500[HEO%% $100
AEOE $500[ O $100
PROZE $100[#OE $100
POt $100[FO1E $1,200
SORE $1,000| PR Ot $1,200
AEOFEH $500[F1OF5 $400
AEO%E $100| EOHE % $500
BROE $100[/HORKX $2,320
BRO#% $100[ZF Ok $300
PO $100[# O $1,220
BROE: $100[FR O $5.000
HOHE $100|PBECOE $1,350
BROF $100| EO $500




O $100[= 0% $1,000
BROEE $100[F O $8,000
RO $100|PEOFM $7,200
T O $100[E O $5,000
BROkE $100[EOFE $1,000
RO $100[EOFE $1,000
s O $100[EOFE $1,000
BROZ $100[ EOHK $1,350
sTOFE $100[FRO%E $1,350
sTO = $100[BROZ $1,350
sTOE $100|fkOF $12,000
tH Ot $100[Ek O EEEZ $600
MO $100[#7ORE $1,000
B OR $600|#7ORE $1,000
2Z0F $300[#mORE $1,000
POHE $600|PEOHH $12,000
Ol $400[E O $100
RO $600[FO1a $100
£Z0/% $600|HFOZE $100
O $600[E O $100
FOE $600[EF O $100
OB $600 |12 O $100
0= $600[#HOF $1,200
TOAIED $500[ T O% $3,600
=OWE $500[ T Ot $4,300
fTOBE $600[(EOZ 1k $6,000
PO $1,200|21Ok $200
B OFH $1.200[FRO $5,400
A OHR $600[7&EO E e $3,600
#O g L $500 | OF $6.000
sTOF $600|&# OFE $500
£ZO# $1.000[z=O%E $1,200
BOE $600[ZFOTT $1,000
B O $600| 5O $1,000
ROH $500[z= O#F $6.000
ErOEL $300[FHOFF $1,000
SO $500[E OFE $1,000
BEO% $1.000[E O $1,000
FOTE $2,320[F O $1,200
O $200[ 50O $1,200
HOE $100|#B Ot $2,400
BOZ $100|ZF O $1,200
FO% $1.000[z=0O% $6,000
RO $200[F=O3L $1,200




FEOR $100|F O%H $1,200
FEOME $100[/RO%E $6,000
FEOH $100[ & O1H $2,400
FEOREER $100|BRO %] $7,200
PROXE $215[ £ O1E $1,000
O $1.000[ EO &5 $500
BIOFH $400[= O $500
PROBEGD $1,352|&= O $500

/It $2,460,979 /T $955,690

o

i

$3.416,669




